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Question 11 MGthS SCOt ”

Solve algebraically the system of equations

3x+2y=17

2x + 5y =4, 3
Answer:
x=7y=-2
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Question 13 MGthS SCOt ”

;|.

The graph below shows two straight lines with the equations:
e 3x—y=12
e x+3y=19

-
X
/ x+3y=19
The lines intersect at the point P.
Find, algebraically, the coordinates of P. 3

Answer:

(2.5,5.5)
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Question 3 MGthS SCOt ”

Solve, algebraically, the system of equations

4x+5y=-3
6x—2y =5. 3

Answer:
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Question 7 MGthS SCOt ”

Solve, algebraically, the system of equations

S5c+2d= 4
4c—-3d =17 3

Answer:

c=2,d=-—
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Solve, algebraically, the system of equations

2x+3y= 8
S5x+2y=-2. 3

Answer:
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